5/16-18 U-BOLT
U-BOLT SADDLE
(2) 5/16 HEX NUTS
(2) 5/16 SPLIT LOCK WASHERS
TYPICAL (4) CLAMPS

GALVANIZED CABLE

(2) 3/8-16 THREAD ENDS
(2) 3/8 FLAT WASHERS

(2) 3/8 SPLIT LOCK WASHERS
(2) 3/8 HEX NUTS

(2) CABLE STOPS

(2) 3/8-16 BOLTS

(2) 3/8 FLAT WASHERS

(2) 3/8 SPLIT LOCK WASHERS

CLAMP SADDLE
CAST 356 ALUMINUM

(2) 5/16-18 U-BOLTS
(2) 5/16 SPLIT LOCK WASHERS
(2) 5/16 HEX NUTS

SWIVEL
CAST 356
ALUMINUM

POLE LENGTHS AVAILABLE
18", 24", 37", 46", 60", 74", 96", 120"

(1)
(1)
(1)
(1)

3
3
1

(
(
(
(3

)
)
)
)

PLASTIC TUBE CAP

UPPER ARM
CAST 356 ALUMINUM

5/16-18 STUD
LOWER RETAINING RING
5/16 SPLIT LOCK WASHER
5/16 HEX NUT

—_

EXTRUDED ALUMINUM POLE

HEX NUTS

5/16 SPLIT LOCK WASHERS
LOWER RETAINING RING
5/16-18 STUDS

LOWER ARM
CAST 356 ALUMINUM

ALUMINUM COVER PLATE

1/4-20 TRUSS HEAD SCREW

CABLE LENGTH —
TUBE LENGTH

PART NUMBER

SBC66-46

CABLE LENGTH | MAST ARM DIA.
66" 3-7"
90" 7 11"
120" 12" 15"
144" 16"- 20"
165" 20" - 22"

THE INFORMATION CONTAINED N
THIS DRAWING IS THE SOLE
PROPERTY OF SKYBRACKET. ANY
REPRODUCTION IN PART OR WHOLE
WITHOUT THE WRITTEN PERMISSION
OF SKYBRACKET IS PROHIBITED.

et . 1
L Sy

Rl
MAST ARM MOLUMTING BARRWKRE
TITLE

NOTES:
1. STAINLESS STEEL HARDWARE.
2. AVAILABLE WITH BAND STYLE CLAMP.

APPROVALS BY DATE

STANDARD SIGNAL

DRAWN TRC 5/27/11

(CABLE CLAMP)

SALES

IZE | DWG. NO.

ENGINEERING

A  SBC66-46

REV.
A

DO NOT SCALE DRAWING

SCALE: NTSlCAD FILE: sBC66-46

|SHEET 10F1




	Sheet1
	Drawing View1


